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(Write your Roll No. on the top immediately

on receipt of this question paper.)

Attempt all questions. -
Answers should be relevant-and precise.

Al questions carry equal marks.

1. (a) Comment on the emerging role of Chief Financial
Officers (CFOs) in India in the wake of the ongoing
global financial crisis. '

(b) “NP_V and MIRR can never give contradictory
results”. Do you agree 7 Elaborate.

OR

(a) “The primary objective of financial management
is sharehoiders’ wealth maximization”. Explain
with real life examples. How can we measure
shareholders’ wealth ? What is the risk-return

dynamics involved therein 7.

. P.T.O.



9904 : 2

(b) A machine purchased five years back has been
depreciated to a book value of Rs. 90000,
It originally had "a projected.life of 10 years.
There is a proposal to replace this machine.
A new machine will cost Rs. 250000 and result
in reduction of operating costs (excluding
depreciation) by Rs. 80000 p.a. for the next
five years. The existing machine can now be
scrapped for Rs. 50000 whereas its salvage
value after its remaining life of five years is
estimated at Rs. 15000. The new machine will
be depreciated over five years period and
will have a salvage value of Rs.25000.
The corporate tax rate is 40% and depreciation
is charged @ 25% on WDV basis and there
exist a block of assets The cost of capital is
10%.

Determine whether the existing machine should

be replaced or not.
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2. (a) “When a firm’s equity shares are undervalued due

to informational asymmetry a firm should rely on
debt to finance a new pro_ject or postpone it”,
Which theory of capital structure supports this

argument. Explain the theory with suitable

illustrations.
P.T.O.
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(b) You are given the following information about
TeeKay Ltd. which is planning to design a suitable
capital structure. At present it is an all equity
company. The company’s EBIT is Rs. ]00000 and
.corporate tax rate is 40%.

Proportion  Post Ke (without Ke (with
of Equity Tax Kd  agency &  agency &
bankruptcy  bankruptcy

(I:osts) costs)
% (%)
1 6 1 1
0.9 6 11 1
08 6.5 3 11.5
0.7 6.5 ‘n 12
0.6 7 11.5 13,
0.5 8.5 11.5 14
0.4 10 11.5 16-

Calculate
(i) the optimal capital structure for the company.
(i) the current value of the company

(iii) the value of the company at the optimal
capital structure.

OR



5.

(a) Why do most -profitable companies borrow less .

and have relatively low debt equity ratio when :
they can afford to ‘increase EPS by using more
debt ? Which theory on capital structure supports
your argument ? Elaborate the theory

(b) Asani Ltd provides you the following information.

(Rs)

EBIT - 600000
Less: Interest on 12% debt © (120000)
PBT - ' . 480000
 Less: tax @40% (192000)
PAT ' 288000
No. of equity shares of Rs. 10'each ' . 50000
Current market price 7 57.6

»

.The company has .undistributed reserves of

Rs. 15,00000. The company wants ‘to raise
Rs. 300000 for an expansion programme. This
amount will earn the same rate of re'turn as the
funds already employed. You are informed that a
book value debt equity ratio of more than 0.50°
will push the P/E ratio of the company down to 8
and raise the interest rate on additional debt capital

P.T.O.
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to 14%. The company has ‘two alternatives
regarding the funding of additional capital

(i) Additional funds are raised ‘as debt capital

(i) Additional funds are raised as equity capital.
Assume that the equity issue can be made at
the current market price.

You are required to advise the company as to
which of the above two alternatives is better if

~ the company wants to maximize its market price.

What would be your answer if the company wants
to maximize its EPS.
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3. (a) Explain the following citing the relevant theory/
mode! regarding Dividends

(i) Dividends convey important information about
the company’s performance and its future
prospects. '

(it) Dividénds are sticky in nature and companies

usually set a long term dividend payout ratio.

(b) The current level of sales of a company is |

Rs. 800,000. It is considering offering, the credit -
terms “2/10 net 30” instead of “net 30”. It expects
that this would increase sales by Rs. 50000 and
reduce average collection period from 30-days to
20 days. It is also expected that customers of
50% of total sales will avail of discount. Bad debt
losses will decline from 2% to 1% on total sales.
The company’s variable cost is 80% and corporate
tax rate is 40%. The post tax cost of capital is
10%. Assume 360 days in a yeér; Should the
cor‘npany change its credit terms? Show ail
calculations clearly. '

OR
P.T.O.
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(a) In the year 2010 Raaga Ltd. Paid d1v1dends
totaling Rs. 540,000 on its net earnings of
Rs. 1800000. The company has 100000 equity
shares of Rs. 10 face valu¢ each currently selling
at market price of Rs. 18 cach. The year 2010
was a normal year. The management of the
company expects that in the year 2011 its earnings
would jump to Rs. 2200000. Hence the company
can afford to distribute more dividends this year.
However sustainability of the dividends is an issue.
The finance manager of the company has given
you the following forecast for the next five years
earnings along with the profitable investment
opportunities.

Year Expected Net Investment

earnings (Rs.) requirements (Rs)
1 2200000 1800000
2 1900000 1200000
3 1500000 700000
4 1600000 1800000
5 2000000 1500000

Answer the questions given below

(i) Given. the earnings forecast, should the
company-increase its dividends significantly
in die year 2011 ? Why ?

(i) Calculate the dividend per share and
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total external financing requirement if the
company follows a pure residual dividend
policy. '

(iiiy Calculate the dividend per share and
total external financing requirement if the
company continues year 2010 dividend payout
ratio. |

(iv) Which type of dividend policy may best suit
the company in such a situation ?

(b} “In establishing an opt.imum.credit policy, the
finance manager must consider the important
decision variables which influence the level of

variables”. Which are the important credit pohcy
variables ? Explain in detail.
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4. (a) Explain in brief Miller-Orr Model of cash

management. How is it different from the Baumol’s

model ?

(b) Excel Ltd is comsidering a proposal to acquire
Sick Ltd. The relevant financial data of the two

companies prior to merger are given below —

Particulars o Excel Lid  Sick Lid

Market price per share (Rs.) 30 18
No. of shares ' 10,00,000 600,000

The merger is expected to bring gains having
present value of Rs. 500000. You are required to
-calculate the cost of the merger in the folloWing
two situations. Consider these two situations
independently.

(i) Excel Ltd pays Rs. 140 lakhs cash to Sick

Ltd. as the purchase consideration.

(i) When merger is financed by stock i.e. by
_ -issuing 500000 equity shares in Excel Ltd. in
exchange for shares in Sick Ltd.

(iif) Why is the costs of mergér between the above

two alternatives are different ?

OR
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_ Explain with suitable examples —
(i) Cash budgei forecasting
(i) Determinants of working capital
(iii) Equity carve outs
(iv) Motives of merger =
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5. Read the following case and answer the questions
given below —

TNPL is one of the largest engineering companies in
India. It provides total systems to the core sectors of
the Indian economy-power, industry and transportation.
About two-thirds of the company’s business is in the
power sector. It is technology intensive company
having collaborations with reputed international
companies and also operates in many of the Europeon
countries including Greece. The company is
considering a huge capital investment of Rs. 20 crores
during the year 2011. However the ongoing sovereign
debt crisis in European countries coupled with US
crisis has increased the uncertainty about the expected
net cash inflows from the project. The finance manager
of the company has made the following forecast about
the expected net cash inflows alter tax for the next
five years (assuming that the investment will have an
economic life of five years only)
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Year | Year 2 = Year 3 Year 4 Year 5
CF P CF P‘CF P CF P CF P
400 2 500

3 350 4 350 3 250 3
700 .5 600 2 550 .5 500 4 400 .1
1000 3 700 .2 700 .1 600 3 550 4
3 00 2

800

The cost of capital is 12% and risk free rate is
6%. The finance manager is planning to use
probability distribution and Sirmulation techniques
to arrive at the appropriate decision about the
project’s probability.

You are required to calculate

(i) The expected NPV of the project using
probability distribution method assuming that -
the cash flows are independent. "

(i) The expected NPV of the project using
Monte Carlo Simulation by simulating NPV
four times using the given sets of random
numbers. '

(iii) What will be your advice to thé company ?.
What are the other aspects that. may be
considered before arriving of the appropriate
recommendation ? .

P.T.O.
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Random Numbers

Year Set 1 = Set 2 Set 3 Set 4.

1 .34 19 ‘51 47
2. 52 37 e 33
3 47 . 4 75 37
4 .87 21 33 93
5 69 98 44 77

Praffe 39 ® TRY o AR R o v @

TNPL s &) &8 S0Pt saidt & ¥ v 31 o sy
IR — e 9, IA IR e B @ dE W
Tof JoTeR e e 1w @ ey W e af
aF W 2 wE WA v w2 R fea
Fededa waldl & W el & ok T sRw e Y9
S B ¥ R e w2 s af 2011 ¥ 20 w2
'E.Wﬂﬁiaﬁﬁ%maﬂ%wﬁmﬁﬁﬁwmuﬁ
T T A X a @ dee AR e B O wae
3 aRAET A e P o vaE ¥ o o war
ffmr 2 = @ R wrw ¥ R ue @ R e
A @ T T R TS e R R A PR

R G W Y (ﬁw%ﬁ%mmmﬁh%ﬂma‘zﬁa
Hra af @ i)



9904

g | T4 2
CE P CF P
400 2 500 3
700 5 600 2
1000 3 700 2
800

T R A 12% IR AW [ W 6% 2 R w\uw
WREH 27 AR FTET0 TR & W w6 H Gt
1 @ 2 AfE TR A e @ WR ¥ Sygew g

q‘{qﬁiaa‘{l

3

i mmm%

(i) TR T R w1 T S TR @ T

CF
350

500

la=]

700

NPV &1 98 qFoht & F&ha vae w@ad g4

(i) A= TRl FTETal & WA T TRA B TRE
NPVWH@R@EW@%%QTNWWW
F& 4 IR NPV Ht Feld & |-

(ifi) 9 H A T TAE BN ? B vwq T R
W I Ry W wge ¥ o Rar R o g

A

I~

A

2

P.T.O.



